
Economics 3250 Dr. Lozada
Spring 2010 Exam 2

Do Not Turn This Page Over Until You Are So Instructed!

This exam has 25 points. There are six questions on the
exam. The number of points for each question is shown next
to the question number.

Put your answers to the exam in a blue book.
You have one hour (that is, until 2:25pm) to take this

test. After the test is over, I’ll lecture until the regular class
period ends.

Answer the questions using as much precision and detail
as the time allows. Correct answers which are unsupported
by explanations will not be awarded points.



Answer all of the following six questions.

1. [5 points] Draw a graph with “abatement” on the horizontal
axis and “$/unit” on the vertical axis.

(a) Draw a “Marginal Abatement Cost” curve on this graph,
then answer: if a tax on pollution (that is, on non-abatement)
is imposed, what level of abatement does the firm choose, and
how much tax is collected?

(b) On the same graph, or on a new graph with “abatement” on
the horizontal axis and “$/unit” on the vertical axis, draw
a “Marginal External Cost” curve and indicate the socially
optimal level of abatement.

2. [3 points] In a study of pollution control regulations, your book
reports that the Net Benefits of:

• technology-based standards was −$60,000,000 in 1984 dol-
lars;

• ambient-based standards was +$1,400,000 in 1984 dollars;
and

• benefits-based standards was +$31,100,000 in 1984 dollars.

Why do these numbers make sense?

3. [5 points] Thoroughly discuss the implications of Figure 1. You
need not graphically explain how to derive Figure 1, but you
should explain what economic situations it describes, and what
it implies for economic policy. Label Figure 1’s curves; show
important points on it; and include it with your exam answers.

4. [5 points] Illustrate the Hotelling Rule on a graph with (instan-
taneous) “quantity extracted” on the horizontal axis and (instan-
taneous) “profit” on the vertical axis.

5. [3 points] Argue that the following statement is false (whether
you agree with it or not):

Business and industry are the ultimate cause of all pol-
lution problems.
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6. [4 points] What economic inefficiency is created by municipal
solid waste? Name two economic policy instruments which could
alleviate the inefficiency. Explain.
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